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QUESTION 1
In the ORCL database, USER1 has unlimited quota on TBS1 and TBS2. The USER1.EMP table with primary key

EMP_ENO_PK resides in TBS1. USER1.EMP_IDX residing in TBS2 is an index on UL.EMP.ENAME. TBS1 is exported
from ORCL by using this command:

[oraclefhost0l ~15 expdp system/oracle tablespace=tbsl
directory=exp dir dumpfile=tbsl.dmp

The TESTDB database has a TBS1 tablespace but no TBS2. The SYSTEM user in TESTDB executes this command:

[oracle@host0l ~]1$ impdp system/cracle directory=exp dir
dumpfile=ul .dop tablespace=tbsl

What is the result and why?

A. Itimports EMP, EMP_ENO_PK, and the unique index associated with EMP_ENO_PK and EMP_IDX.

B. It imports only EMP, EMP_ENO_PK, and the unique index associated with EMP_ENO_PK.

C. It fails because TESTDB has TBS1.

D. It imports only EMP.

E. It fails because TESTDB does not have TBS2 to create EMP_IDX.

Correct Answer: B

QUESTION 2

Examine these commands: What is the expected result?
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SQL> DESC ul.emp

Name Null? TYPE

EMP ID NUMBER
ENAME VARCHARZ (3)
SAL NUMBER
SQL> exit

[oracle@host0l ~]$§ cat emp.dat

1,Ben, 2000
2,Alan, 3000
3,Kevin, 4000
4,Sam, 5000

[oraclefhost0l ~]$ sglldr ul/cracle table=emp

A. It fails because EMP.DAT has some records with more than three characters corresponding to UL.EMP.ENAME.
B. Only the first row in EMP.DAT is inserted into U1.EMP.

C. Only the first and fourth rows in EMP.DAT are inserted into UL.EMP.

D. All rows in EMP.DAT are inserted into UL.EMP but ENAME is set to ### for the second and third rows.

E. All rows in EMP.DAT are inserted into UL.EMP but ENAME is set to NULL for the second and third rows.

Correct Answer: D

QUESTION 3

Which two types of files are opened by a database instance in the NOMOUNT state?
A. control files

B. the alert log

C. the initialization parameter file

D. data files
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E. online redo logs
Correct Answer: CD

Reference: http://www.dba-oracle.com/concepts/starting_database.htm

QUESTION 4

Which three statements are true about an spfile? (Choose three)

A. It contains only static initialization parameters.

B. It is the first file processed at instance startup.

C. It can be edited by SYS when the database instance is shut down.

D. It must exist for a database instance to start.

E. It can be used to create a pfile.

F. It contains initialization parameters whose values can be changed using the ALTER SYSTEM command.
Correct Answer: DEF

Reference: https://oracle-base.com/articles/9i/persistent-initialization-parameters

QUESTION 5

Which is a machine image in Oracle Cloud?

A. the number of OCPUs and amount of memory allocated to an instance

B. the physical persistent block storage space allocated to an instance

C. the number of OCPUs, amount of memory, and persistent block storage space allocated to an instance
D. a template of a virtual hard disk of specific size without an operating system installed

E. a template of a virtual hard disk of specific size with an installed operating system

Correct Answer: E

Reference: https://docs.oracle.com/en/cloud/iaas/compute-iaas-cloud/stopc/machine-
image.html#GUID3CE8D227-81EC-43EF-A80B-B6D3380ED526
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